Power spectrum

102

'
w

(=Y
o

(&3]

Magnitude (RIN/Hz *?)
= =
o o

107 b 4]

H1:PSL-OSC_PD_AMP_DC_OUT_DQ
H1:PSL-OSC_PD_BP_DC_OUT_DQ

- opbh ]

H1:PSL-OSC_PD_INT_DC_OUT_DQ
H1:PSL-OSC_PD_ISO_DC_OUT_DQ
H1:PSL-PWR_HPL_DC_OUT_DQ

T .

BT

1 T T T !
0.9 R s
0.8

0.7
0.6

0.5 ——————————  HLPSL-OSC_PD_AMP_DC_OUT_DQ/H1:PSL-OSC_PD_BP_DC_OUT_DQ
H1:PSL-OSC_PD_INT_DC_OUT_DQ / H1:PSL-OSC_PD_BP_DC_OUT_DQ
O 4 ——————————————  HILPSL-OSC_PD_ISO_DC_OUT_DQ/H1:PSL-OSC_PD_BP_DC_OUT_DQ

Coherence

H1:PSL-PWR_HPL_DC_OUT_DQ/ H1:PSL-OSC_PD_BP_DC_OUT_DQ
0.3 ——————————  HLPSL-PWR_HPL_DC_OUT_DQ/H1:PSL-OSC_PD_INT_DC_OUT_DQ
/R

0.2 i fle

1 10 10°
Frequency (Hz)

T0=29/11/2016 20:33:04 Avg=100/Bin=30L

A A Aol by

+14-H

= =0 -H-I-}-l-H-I-I-|-H-H-|-I-I-H-[{-I-I-I-[H—I-I-IJ-I-{-I-I-I-H-I-]

BW=0.187493



